MATH 174 Quiz 5
Name: -S M‘M PID:

Solve the problem systematically and neatly and show all your work.

1.(2pts) Use the formula for implicit differentiation to find g—% if ze¥ — sin(zy) + 22 — 2y = 5.
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2.(2pts) Let w=2ay+3y* -2,z =uv and y = %, use chain rule to evaluate Ll at (2, %).
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3. Let f(z,y,2) = 2?25, —
(2pts) (a) find Vf at Fy(1,1,1).
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(2pts) (b) find the directional derivative of f(z,y,2) in thel direction of V f at Py(1,1, 1)) u = T ’

(2pts) (c) _find the normal line of the surface f(x,y,2) = 2?y%2% at Py(1,1,1).
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